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int[] a = new int[4]; a[0]o[3]0] | intO0a={1.23 43 |
a[2] = 3; nilofid 0 1 2 3
b o 1 2 3 [1[2]3]4]
int[1[]1 b = new int[3][4]; ojojojo o0 _
b[11[3] = 4; a9lif 1{0|0|o0|4 int[J] b = { {1, 2, 3, 4},
2 0 o] 0 0

{5, 6, 7, 8},
{9, 10, 11, 12} };

int[Q[1[dc = new int[2][3]1[4]: | ¢ ololofo
c[O][11[2] = 9; sl ofofofofp

Nk o T
ool O
N
w
N

10 | 11 | 12

2110101 Yanssunanumas 34 (10/06/52) 3 2110101 mnssumaufinaasd 3v4 (10/06/52)

a7Lsel Ay 293U for WINARIUNUavda TukuINLaINuadasd 2 46

public static void print(int[] d) {
for (int i = 0; i < d.length; i++) {
System.out.print(d[i] + " ");

public static int sumDiagl(int[][] d) {
int sum = 0;
for (int i = 0; i < d.length; i++)

¥ R sum = sum + d[i][i];
System.out.printin(Q); T
¥ ANULAIUUIUAY return sum;
public static void print(in€LIy] 3 d[0][0] + d[1][1] + ... + d[11][11]
f";oﬁ'QEn;; % ;-‘j-'e“.”" R public static int sumDiagl(int[1[] d) {
. =T ey int sum = 0;
, System.out.print(d[i]J] + ): for (int i = 0: i < d.length: i++)
System.out._printinQ); y sum = sum + d[i][d.length-i-1];
} } return sum;
d ifluawsd 2 18 ¥ d[o][11] + d[1][10] + ... + d[11][0]

d.length unuaruwanwIuauuay d

d[i]-length wnuAIYtasraasHwaIT i

Aauuudig - d.length {wuunal, d[0].length 3numaduid
100 (@AUANANSHTULGRzUaY LIWNAUATS uats1aglinaia)
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public static int sumLower(int[][] d) {
int sum = 0;

for (int i = 0; i < d.length; i++) {
for (int j = O; j+) {

sum = sum + d[i][J1;
}
}
return sum;

3

public static int sumUpper(int[][] d) {
int sum = O;
for (int i = i <d.length; i++) {
for (|nt J < d.length; j++) {
sum = sum + d[i1[j];
¥
¥

return sum;

}
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grade[j][i] vfu E g EEEEE
tnsﬂmmao*i’z;p_j n A 4 4 4 4 4 s
dndauaun 1 16 Students‘ I ‘ I ‘ I | ! | I ‘ I ‘ I |
courses grades 0 1. 3 4 6
(o] "cs101" o A ||lA A A
1 "cs200" 1B [|A c | B+ c+
2 "ee105" 2| A c+| A | A| A |B+
3 "ee211" 3| A|lBl|lA|A|lC|A|A

ane > waasdag | ||| |

gpa [3.75[3.67[3.50]3.33]3.38[4.00[3.50]
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public static double[] studentGPA(String[]1[] grades) {
double[]1 gpa = new double[grades[0]-length];

public static double grade2point(String g) {
if (g-equals('A™)) return 4.0;

for (int 1 = 0; 1 < grades[0].length; i++) { else if (g-equals('B+")) return 3.5;
gpa[i] = studentGPA(grades, i); else if (g-equals(''B"™ )) return 3.0;
Aual GPA uav else if (g-equals('C+")) return 2.5;
return gpa; Wndauaud i else if (g-equals('C" )) return 2.0;
} else if (g-equals('D+™)) return 1.5;
- — else if (g-equals('D" )) return 1.0;
public static double studentGPA( else return 0.0-
string[1[1 grades, int i) { 3 o
double sum = 0;
int n = 0; public static double grade2point(String g) {
for (int j = 0; j < grades.length; j++) { string[] grades = { "A"™, "B+", "B", "C+",
if (1grades[j1[i].equalsC™)) { Lo RO =
sum = sum + grade2point(grades[j1[i]); double[] points = { 4, 3.5, 3, 2.5, 2, 1.5, 1, 0 };
n++3 . a :‘1 for (int k = 0; k < grades.length; k++) {
} AR R ] if (grades[k].equals(g)) return points[k];
3 WnBouaud i )
return sum 7/ n; return 0.0;
2110 } 9 21 } 10
Radtdigutay : 1 GPA uasian AY1iNg
Wdauian 1243
= void printEqualRows(int[][] d) 96|57
students course ugavuadlu d Afidniiaudu 1]2]4]3
grades 0 1 2 3 4 5 6
0| A|A|A Al A|A = double saddlePoint(double[][] d) 112143
18| A c | B+ c+ Audiayalu d Miaagaluunad ARERE
courses 51 a cv| A A|A|Br wsrngalunadu, d1sfidy -1 1]2]4]3
3/A[B|A|A[C|A|A
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a C

\ c[-]u] = a[i1Li1 + bLi1Li] \

public static double[][] add(double[][] a, double[1[] b) {
int row = a.length, col = a[0].length;
double[1[] c = new double[row][col];
for (int i = 0; i < row; i++) {
for (int j = 0; j < col; j++) {
cliliil = afilo] + b[il0l:

NTALUNINAAUIIUIUITY

2 46 1 2 3
0.5 =

8 2 4 4 1 2
S C

a

| clilli] = s*alil(i] |

public static double[][] add(double[][] a, double s) {
int row = a.length, col = a[0].length;
double[1[] c = new double[row][col];
for (int i = 0; i < row; i++) {
for (int j = 0; j < col; j++) {
clilil = s * a[il(l:

H H
} }
return c; return c;
H ¥
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[a all]r)o'0 Bo b"’z} a0 a1 |[Poo boz o2
bo B b ao ay ||bo by b,
[ Qoo taibyg, abgy +a;by;, aghp, +ayb;, ]
n-1 30Po0 t 3P0 Agelos T AgaP1s  @gebos +8g1by
G = z aby ;
k=0 A obge + AP Aroby tarbyy  Ayebp, +ayib,
public static double[] multiply(double[] a, double[][]1 b) { n-1
int row = b.length, col = b[0].length; _ b
double[] ¢ = new double[col]; CIJ - Zai,k K, j
for (int 1 = 0; 1 < col; i++) { k=0
for (int k = 0; k < row; k++) {
c[i] = c[i] + a[k] * b[K]I[il; for (int k = 0; k < n; ki+) { .
3 N clilbl = c[ilO] + a[illk]l * b[K1Li1:
}
return c;
¥
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Coo Co1 Co2 o=
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k=0

Co C1 Cp

a0

public static double[][] multiply(double[][]1 a, double[][]1 b) {
int row = a.length, col = b[0].length;
int[J[1 c = new int[row][col];
int n = b.length;
for (int i = 0; i < row; i++) {

for (int j = j <col; j+t) {
for (int k = 0; k < n; k++) {
[} c[il1hi] = C[I]Ll] + a[i][k] * b[K]Lil; ’
3
return c
3
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import jlab.graphics.DWindow;

public class ImageDisplay {
public static void main(String[] args) {
DWindow w = new DWindow();
w. loadImage(*'c:/javalOl/airport.jpg™);
w.FillEllipse(DWindow.YELLOW, 400, 70, 40, 40);
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DWindow w = new DWindow();
w. loadImage(*'c:/javalOl/airport.jpg");
w.FillEllipse(DWindow.YELLOW, 400, 70, 40, 40);

int[J[]1 p = w.getPixmap(Q); 7/ ﬁuuwuﬁ@mnqw

R & &
w.setPixmap(p); // BNUAUNFANTN
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DWindow w = new DWindow();
w.loadImage(*'c:/javalOl/airport.jpg™);
int[J[] p = w.getPixmap();
int width = p.length, height = p[0].length;
for (int x = 0; x <|wi /2 x++) {
for (int y = 0; y < height; y++) {

int t = p[x]lyl;

p[x1Llyl = plwidth - x - 1][y];

plwidth - x - 1][y] = t;

w.setPixmap(p);

2110101 mnssumaufinaas v+ (10/06/52)

duasgrulu DWindow

[

L L
BLACK GRAY ORANGE WHITE

BLUE GREEM PIMK YELLOW
|

MAGENTA  RED

DWindow w = new DWindow(200, 200);
int[1[] p = w.getPixmap(Q;
for (int x = 0; x < p.length; x++) {
for (int(y = x; y < p[0].length; y++) {
p[x1Ly] = DWindow.RED;

w.setPixmap(p);
w.FillENlipse(DWindow.BLUE, 100, 100, 50, 50);

2110101 mnssumaufinaasd 3v4 (10/06/52) 22
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import jlab.graphics.DWindow;

public class FillColor {
public static void main(String[] args) {
DWindow w = new DWindow(200, 200);
int[1[] p w.getPixmap();
for (int x = 0; x < p.length; x++) {
for (int y = 0; y < p[0]-length; y++) {
if (x>y)
p[x1Ly] = DWindow.RED;
else
p[x1Ly] = DWindow.YELLOW;

w.setPixmap(p);
¥
¥
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DWindow w = new DWindow(200, 200);
w.FillEIlipse(DWindow.ORANGE, 100, 100, 20, 20);

int color = DWindow.mixRGB(255, 128, 0);
w.FfillEllipse(color, 50, 50, 20, 20);

int r = DWindow.getR(color); wigsidndous 0 -255
int g = DWindow.getG(color);

int b = DWindow.getB(color);
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int[1[] p = w.getPixmap(Q;

i = DWindow.getR(p[x1[y1);
int g = DWindow.getG(p[x1LyD):
int b = DWindow.getB(p[x1Ly1):;

r =255 - r;
g = 255 - g;
b = 255 - b;

p[x1Ly] = DWindow.mixRGB(r, g, b);
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public static void main(String[] args) {
DWindow w = new DWindow(200, 200);
w. loadImage(*'c:/javalOl/airport._jpg");
int[1[] p = w.getPixmap(Q);
w.setPixmap(negative(p));

}

public static int[][] negative(int[1[] p) {
for (int x = 0; x < p.length; x++) {

for (int y = 0; y < p[0]-length; y++) {

int r = DWindow.getR(pIX1IYD);
int g = DWindow.getG(pIxX1[yD);
int b = DWindow.getB(p[x1Lly1);

r =255 -r; g=255—-g9g; b =255 - b;
p[x]1Ly] = DWindow.mixRGB(r, g, b);
¥
}
return p;

3
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int[1[]1 p = w.getPixmap(Q;

int r = DWindow.getR(p[x1Ly]1):

int g = DWindow.getG(p[x1LyD):;

int b = DWindow.getB(p[x1Ly]1):

int gray = (r + g + b) /7 3;

p[x1Ly] = DWindow.mixRGB(gray, gray, gray);
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public static void main(String[] args) {
DWindow w = new DWindow(200, 200);
w. loadImage(*'c:/javalOl/airport._jpg");
int[1[] p = w.getPixmap(Q);
w.setPixmap(gray(p));
}
public static int[][] gray(int[]1[]1 p) {
for (int x = 0; x < p.length; x++) {
for (int y = 0; y < p[0]-length; y++) {
int r = DWindow.getR(p[x1Lyl;);
int g = DWindow.getG(p[x1Lyl;);
int b = DWindow.getB(p[x1Lyl;);
int gray = (r + g + b) / 3;
p[x]1Ly] = DWindow.mixRGB(gray, gray, gray);
¥
}

return p;

3
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